| N of simulated tracks vs transverse vert position | N of associated tracks (simToReco) vs transverse vert position | N of simulated tracks vs z vert position
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| N of associated tracks (simToReco) vs z vert position | | N of simulated tracks vs. sim PV z | | N of associated tracks (simToReco) vs. sim PV z |

4
10 10°

10*

10°
10*

10?

E : . : : 10°
SR A 10°k
70 ISR OO SRR SO SO, ., SO : :
K" R . ; “
L LS T T 102 10°
[ PP P P I I e | LA [ P I U DU UU PO FUUTE P oo
1:_ |:l||ll|1“1-illllull||E A 1:_____.._ 4 |El|l|11111111.11:11111:1| ] 1:_____1_1: : lilllllil 1 “ll
: |E|”||IIIIIEI|III|I||F : |E'|'|'I'|'|'TTT'|'"‘|"|"|‘T|':TT'|"|"|':]'| g : ' :|T||TE]TTT1?TYYTTETTT'['I'E||
095k i i ; i ; oosbeid i i i ook Al p o p i MK
=30 -20 -10 0 10 20 30 =20 -15 -10 -5 0 5 10 15 20 =20 -15 -10 -5 0 5 10 15 20



	Contents
	Page 1


